
?= xhf/

l;=g+= s[lif -uf=kf=_ /sd

1 s[lif k|;f/ sfo{qmd

1.1 %) Ü cg'bfgdf u]xF' ljp vl/b / ljt/0f ug{ 500

1.2 cg'udg tyf e|d0f vr{ 7

1.3 %) Ü cg'bfgdf wfgsf] ljp vl/b / ljt/0f ug{ 486

1.4 cg'udg tyf e|d0f vr{ 7

2 cf=j= @)&%÷)&^ sf] s[lif of]hgf tkm{ lhGs ;Nkm]6 / ljB'tLo :k|]o/ %) Ü cg'bfgdf ljt/0f 

sfo{qmd /x]sf] cj:yfdf ;f] cGtu{tsf] s]xL ;fdu|Lx? ljt/0f x'g afFsL /x]sf] jfkt /sd ?=
250

-cWoIf_

3 &% Ü cg'bfgdf af]6 lj?jf ljt/0f ug{ g;{/L ;+rfng ug{sf] nflu 850

4 t/sf/L ls6 ljt/0f -lxpFb] jfnL_ 250

5 t/sf/L ls6 ljt/0f -aif]{ jfnL_{ 250

6 s[if ;d"x u7g nufot cGo sfo{qmd ug{sf] nflu 200

7 s[if ;d"xsf] nflu tflnd ug{ 300

8
wfg, u]x'F, ds{}, sf];] jfnL, j]df};dL t/sf/L / d;nf jfnL ;DjGwL l;k d'ns tflnd uf=kf= 

:t/Lo 250

9 :ynut 3'DtL tflnd 250

-pkfWoIf_

10 ^) Ü cg'bfgdf cfu]{gLs dn vl/b / ljt/0f ug{ 500

11 df6f] hfFr lzlj/ ;+rfng 100

12 s[ifsx?nfO{ e|d0f 400

13 s[ifsx?nfO{ Joj;flos t/sf/L v]tL ;DjGwL tflnd 300

14 s[ifsx?nfO{ ljleGg lsl;dsf] t/sf/Lsf] ljp ljt/0f 100

5000

     s[lif tkm{sf of]hgfx?


